Show that
2 3-45
3+V5 2

Changing the Subject
Make x the subject.
1) c(a+x)=0b

2) u(x+v)=w+vx

Quick WitS

HigHer 3

Nth Term Rule

g Quad’atics
1)) (x+4)(2x—-5)=0

2) x2=7x+10=0

What is the nth term rule of:

1) 4,3,1,0, ...

2) 2,8,18,32, ...

Algebraic Proof

Prove that the sum of
two consecutive odd

numbers is always even.

Equation of a Line

1) What is the gradient of the line
y = 2x + 5.

2) Circle the pair of lines which are
parallel to each other.

y = 3x y=x y—3x=5

1
y+x=0 y=§x+2

3) Circle the pair of lines which are
perpendicular to each other.
y = 3x y=x y—3x=5

1
y+x=4 y=§x+2
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QU iC K WIT’S Solving Qe

. _ ratiCS
== HigHer 3 1) (x+4)(2x—5)=0

5 1
2 3—-v5 6-2V5 x=—-4andx === 2—
3+x/§x3—x/_= 9-5 2) x> =17 +10—20 ’
_6—-2V5 3-+5 Nth Term Rule )x(x—;C)(x—S)_zo
42 What is the nth term rule of: x=2andx = &

Changing the Subject Equation of a Line
Make x the subject. 1) 4,3,1,0, ... : : :
1) cla+x)=b e 1) What is the gradient of the line

y =2x +5.

ca+cx=>b
cx =b—ca 2) 2,818, 322;12 Gradient is 2

b—ca 2) Circle the pair of lines which are

Algebraic Proof parallel to each other.

C
2 V) = v _
) ulx +v) =w+vx Prove that the sum of two y=x [3’—3’“—5]

ux +uv =w + vx i dd b ) 1
UX —UX =W — UV consecutive o numpers IS y+x=0 y=§x+2

x(U—71) =W — uv always even. _ _ _ _
( W _)uv Even: 2n 3) Circle the pair of lines which are

Odd2n—1land2n+1 perpendicular to each other.

2n—14+2n+1=4n=202n)  y=3x y—3x=5
a multiple of 2 and .. even.

X =

[y+x=4 ] y=%x+2

ANSWer'S
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